CHRISTMAS

WORD PROBILIERS #+4:

Solve the following word problems.

On Christmas morning, 5 friends watch the Christmas parade on
television. Soon they're joined by 10 more friends. How many friends
watch the parade in all?

Phil invites 13 friends to a Christmas party. At 9 o'clock, 6 of his friends
go home. How many of Phil's friends are still at the party?

Fred finishes his Christmas shopping in 5 days. Kenny finishes all of his
shopping in a week. Which boy finishes his shopping faster?

A group of 8 boys and 7 girls dance at a Christmas party. How many
children are there all together?

Randy and James sing the same amount of Christmas carols. All together,
they sing 24 songs. How many carols did each boy sing?
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